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1 |BRASHERERZIDHILEZ U - 6.20 19. 80 12.00 17.40 40.00 6.00 1.00 101. 40 57. 3962
2 (AR TAUR 8.20 19. 80 12.00 14.90 40.00 6.00 1.00 |
3 MBIt 7.00 21.00 12.00 12.50 40.00 6.00 1.00 98. 50 55. 7547
4 [BEaVHILE Y RS 6.20 15.00 11.00 12.50 40.00 6.00 1.00 90.70 51. 3396
5 %RXEsHavHILNT S 71.40 18.00 8.20 10. 00 40.00 6.00 |
6 [KXeHBHEIOS Y bEUE— 8.20 15.00 12.00 10. 00 40.00 6.00 1.00 91.20 51. 6226
7 |B&hERAESRSH 5.00 15.00 9.80 12.50 40.00 6.00 1.00 88. 30 49. 9811
8 |MALM=MMMEILHILEZL 7.00 15.00 12.00 10. 00 40.00 6.00 1.00 90. 00 50. 9433
9 (MAESHWEIHE 5.00 15.00 8.00 12.50 40.00 6.00 1.00 86. 50 48.9622
10 (MREHPRERI DY ILED b 7.00 12.00 12.00 10. 00 40.00 6.00 1.00 87.00 49, 2452




